REV-01 2022/10
LLM/14/19
LLM
SECOND SEMESTER
POLICE LAW AND ADMINISTRATION
LLM-2.3 [CSL-6]

(Use separate answer scripts for Objective & Descriptive)

Duration: 3 hrs. Full Marks: 70
. : ( BART-A : QQI.QS!!-!'E]
Time : 20 min. Marks : 20
Choose the correct answer from the following: 1X20=20
1. Police as a functionary of criminal justice system has to play a crucial role for:
a. Maintenance of peace and order b. To safe guard the rights of the public
c. Civil protection against crime and d. None of the above

disorder in England

2. The term 'criminology’ is derived from the combination of two Latin words:

a. Criminal and Science b. Crimen and logia
¢. Crime and logistics d. None of the above
3. Astudy of the personality of the offenders in physical terms is called as:
a. Criminal Sociology b. Penology
¢. Criminal Anthropology d. All the above
40 i «o.concerns with the various aspects of punishment and penal policies.
a. Criminal Psychology b. Criminal Sociology
¢. Penology d. Criminal Anthropology

5. The person who commits a crime is known as:
a. Gambler b. Criminal
¢. Prisoner d. Accused

£,

6. The word police is derived from the Greek word:
a. Politeia b. Police
¢. Prevention d. None

7. The purpose of investigation is to collect evidence and to:
a. Apprehend the culprit b. Arrest the accused
¢. Punish the accused d. All of the above

8. A police officer with the primary duty Lo probe crimes:

a. Problem Analysis Triangle b. Control group
c. Investigator d. Foot Patrol
9. Another name for Community Oriented Policing (COP):
a. Foot Patrol b. Kansas City Preventive Patrol
Experiment
¢. Community Policing, d. Stakeholder
10. Who among the following abolished the office of Superintendent of police (SP)?
a. Lord Bentinck b. Lord Cornwallis
¢. Warren Hasting, d. Lord Wellesley
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